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CLASS TEST

Q1.Choose the correct answer and fill in the blanks.

a.The answer we get after adding is called the sum __ .( sum /difference)

b.The sum obtained after adding 0 to any number is the number itself .
(successorl/ itself)

cl0ones=_1 ten+0ones.( 1/11)

d. 35 + 52 = 87
52 + 35 =87 (35/53)

e.85+0=_ 85  (58/85)
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2.Add the following.
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3.Solve the story problem.

322 men,312 women and 102 children live in a village.How
many people live in the village?

Number of men= 322

Number of women= 312

+
Number of children= 102
Total number of people= 7 3 6

736 people live in village. UDM& \
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